PH 2% 4
ORI 3 =7 77 £ % Ep< @74 0 Bt TEK FIFR o1 479
Zrod' 20~ % 18,1 fksiﬁzw‘:btfoﬁ”@?é%o (3% £ 7 k
To EHA ST a5z TRBR F 2s

A B e D E p D m%
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 [cm]
ko fi i A B C D | E | F
B (s ) 0 01 | 02 | 03 04 05
A5 OHiEE (cm) 0 | 25 ' 50 | 75 100 125
X E o em? 2.5 | 25| 25 25 25 |
X T E o em/s) 2y 25 | 2% 2% 25 |
(ﬁ

25
%‘2 2520 = 26+ 7’5 = 2~5x—"9 =BG
bt :

@<Dihm*%ffwbaﬁax3+@FQQﬂg%@437ﬁ$)x
BIPR v A b o 28 RE o PAIT

502 4
L 293952 (H3)% »n25 440
2 30

{cm/s)
20
@ B0 Een v+ RH 4 p
N AN AR \O)Xff'/#wﬁ}t Id o

0 0102030405 0 0102030405
A/ R SR gﬁi*ﬂi RN B5R (s) R (s)

(—Z )o&tv( —F ) £5 o< F 94
D Dod>1s Bors fivvse (FHEFEFE Bos)

& Hintkn @ o Fhik §3v3, IEEE® K932 Koa'a ( R F
Biatn TR 2w B o3

L. . ¥ =+
whieedk = (2o, x (9981,




